2024 N1 17

f(x,y) = ay + £ wypnoa vy 1

(1,2) nmpra prunn N NINNYN DR INSD (N)
NN (a,b) NTPIA PPYnn NMWNN DRNYH NN

Z:f:v(a7b)z+fy(a7b)y+c

MONN
1
fo(zy) =y+ -~
Yy
Xz
fyl@y) =2—-—
y( ) yQ

0 (1,2) nTpaa prunn Menn 199
z=fx(1,2)z+ f, (1,2)y+C

5 3

NTIPIN NN 1Y) .NaNN T Oy Kymw C yap May

(L.2.f(1.2) = (1,27 é)

2
52PN
S+ Z 24 C
90N NWNS Wom C' = —% PN
z=—-x+ §y — §
4 2

(—1,1) yvo2 (1,1) nTP3a NN NN NN (2)
JOINTRN NN AYNI NN

Vf (ajay) = (f:v (way) ’ (fy (way)))

1 x
= y+—,$——2
Y Yy



YT Oy NIM U 03 (@, b) NTIPIA NN NYD (DTIP PYDA NN T2 [y, f MIIN NN)

Vf(a,b)- ‘

=

NONNY

:(270).M:

-2
V2 ﬁ:‘ﬁ

f(z,y) =z 4y mypnoa vay 2

D ={(z,y) | 2% +y* <4} onma [ (z,y) 5¥ DWYHM DPDPNN NN INYD (N)
avm V[ (z,y) = (0,0) 2Wwnd mdapnn on .f (z,y) S MTVYN MMP) DY 2NN NN

Jz (1‘7y) =1

NY DINNN NAY DR JPNAY INWI DINDN 0292 MTWN MNP PRy wWon .V f (z,y) # (0,0) 199
NR 923 .g = 2?2 4 % — 4 NOWN NN NINNNY PXPNON DY 'HNY 9931 wonw {(z,y) |2? +y* =4}
MNNWHN

1 =X (2x2)
1 =A-(2y)
$2_|_y2 =4

92P5 NNYNIND MIYN INNYNND DX 10N
0=X-(2z)—X-(2y) =2\ -(z —y)

AN
(N5D9) NN MIVAN 1221) NNPPNN NI NIYNIN IRNYNNY ORI NI A =0 X e
923 TPWOVN NRNYNNIN IR (MIYRIN IRNYNN 29D £ 0) NHYRIN IRNYNN IO\ = % WNIT =y N e

(,9,\) = (\/5, V2, 2—\1/5) , (—\/5, -2, —ﬁi) MY MNPPIN MNNWHN 939 MK 9P .2 = +/2 199 222 = 4
(V2,v2) , (—v/2, —V2) mmwn mmps snw 1n v 199

PPN YY)

flzy)=x+y

DWPOPNN NN DWPIPHN TIY HAPIN NN NN
f (\/5 x/i) =2V2, f (—\/_,—x/i) =-2V2

—2v2 N0 owynm 2v/2 xn Dmopnn 190



D={(z,y) |0<x<1, 0<y <1} ownna f(z,y) v DWPYHM DIOPHNN DX INND ()
N9WN 9y PITAZ AMI 139 MTIYA MTPI PR DINNN DIV 1PN NINS
DY 4 N NI NIV

y=20
y=1
=0
=1

NI¥NY ©IWNN TAR 952 1Y Y51 wonws nyd .(0,0),(0,1),(1,1), (1,0) on o nn MMpn
.19VN DY MTMVYN MMP)

2apy gy =y My e

1 =X-0
1 =X-1
y =0

Y DIPNI MTIYN MTNIPI PR 199 NNYRID IXNYNIL NPND IRNYN DO
9apy ge =y —1 3y e

1 =X-0
1 =X-1
y =1

T DIPNI MTIVA MTMPI PR 1O NNYNRIN IRNYN DN DNV NHDP
9aApy g3 =2 MNAY e

1 =X-1
1 =X:0
zr =0

T NAPN2 MTIYN MTIPY PR )OD) 7PIVN IRNYNA NP0 IXNYN 10D
Sapyga=x—1 My e

1 A1
1 =X
r =1

N IPR MTYN MTIPY PR D9 1IWN INNYNA DPND DRNYHD DOP
PN X .novwn Yy mmwn (0,0),(0,1),(1,1), (1,0) Topn Mmmpy P 01O

flzy)=z+y
DIDPRN NN OWYHN TIY YaPNN NN ININ

£(0,0)=0,f(0,1)=1,f(1,1)=2,f(1,0) =1

.0 N DyYNRM 2 NN 0MYOPNN 12O



y(r) =1 ovpon y = %x—) FTNY PINS NN L3
92PY VINN 9TOY )PINS

1 cos()
yoy=- (
NN "YW Inen La(z) = 1, b(z) = —@ M3y ¢’ + a(x)y = b(x) NNINN PYURI ITON MPIRYY VTN Y

e A@ (CJr/b(a:)eA(z)dx)

9 Az) = [a(z)dx = [L1dx = In|z| My

¢l <c+/°°sm(m)emlmldx> — || (0/@ |z|dx>

= |zt C = |2| 7} / <Os(@) | dx

xT

N VOMNA TIWD DR PNNY WAN N |z| = 2 0»prn z > 0 Ny 25 Dwn

|x|71/—COS(I) |x|dx:x_1/—cos(z)xdx
x

T

W |z| = —z 02pmn |z| < 0 Mam

|a;|—1/c°s($) || dx = —z_l/m(—z)dx:z_l/mzdx

T T T

oy .zt [ %lxdx oy TYNNY WX NIPN 951 19N

|$|_1C_x_1/_cos(z) || dx = |x|_10—$_1/—cos($):cdx
x

€T
_ -1 -1
=lz|”C—=z cos()dx
= |z|7' C — 27 sin(x)
01209 Yapn

1

y=lz|7' C =z Vsin(a)

:C' NN RINNY y(m) = 1 NSNNNN XRIN NN XY Ny

- C
1=|x|"'C—a tsin(n) = =
™
y(z) = 2| 7w — 2 L sin(z) 20 mown nawnm C = 7 129
Y(0) = 0 o»pon y' = & 2“5 NIN9 INYD .4
dx, dy 2159 ayn €Y 2 59190 PIng
eYdy = xdx



:(19% NINWNN 295 TNN 923) DIOIND VD DNVIN YY) .NTI9 INNIYD NINY
/ eYdy =eY +C
2
X

ARp)

=2 4cC

2
.y—ln(%-l-C)

0=1In (0; +C> =1n(C)

2
.y—ln<%+1)

20m Sv nann 2ty m = lkg S¥ Non Sya NTd .5

2y 2N NN

:C' R Mo y(0) = 0 N5NNN NN )

oo Nawn .C =110

VPPN ON MTIN WX YT NND TN PN MTNND PRY INN (N)
t yra NTHN HY mipnn IR y(t) 2 903 (0 N NP NN YPIPn vI92) 20 2 NTIN DIPM JIDI PNIND
VAP g & 9.8 qUKI) mg = 1 - g WTHY XIND MTD NWN NN NTON DY Syaw non L(y(0) = 20 v193)
a Y NTON DY S9N NoN NN AWND) F = ma wnn .—g NN NN 05 050wn o5 mro (0 Taon
5 92P) (MNTON YV NNINNN NN
—g=ma=a
Y 93P) ;009 DNVPR T YY IOY L(DIPMN DY PIVD NIDIN XN NNIRND DY) —g = y”(t) N
y'(t) = —gt+ac
t2
y(t) = ~95 + it +co

9 (RSNNN M PR) ¥ (0) = 05 M) .cp, co DYIAPN 2WNY NONNNN ONIN DR X DY)

0=40)=-g-0+c1=c;



1991 1(0) = 20 qonn
02
20 = y(0) = 95 ta 0+c=c
My Ly (t) = 01y ¢ yrn DX NxN Nyd Ly(t) = —g% + 20 o1>o
t2
—gE +20=0

(VPP 9 NN NTIN MINY AR It 0D NYTO 00) £ > 0 W DoyTe DNINY DD L = & 430 125

t=,/2 v 51
g

VY 2 INR NTIN MY AN I L,b = 0.05 AWNRD by T2 NN PNIRD MTINNIY NN

t yra NTIN HY mipnn IR y(t) 3 03 (0 N NTIPY NN YPIPn VI92) 20 2 NTIN DIPM JIDI PNIND
VAP g &~ 9.8 AWUKI) mg = 1 - g VTRV XIND MNTD NWN NN NTON DY Saw ndon L(y(0) = 20 vi93)
SV PO TION MNP by KT NINY PNND MTINN NTIN DY S8 Q0N 25U )P0 v (070N
N5 2% .09%Y v W D) —bv 10D 125 (D250 N SW PPOY T NN YpIpa nyam ¢t = 0 nv) v
’D 9aPY (MTON SY NIRNN NN @ ) NTIN 9 HMan NoN NN F AR F = ma YWY .—g — bv N0

—g—bv=ma=a

AD1PDN SV NN NN MM DIPRN YW 1IWN NN NN DINDD MnY) —g — by (1) = y'(t) W
92PN z =y PO

2 4bz=—g

mInav (a(z) = b,b(z) = —g M) 2’ + a(z)z = b(x) NNXM INPY VT Y

e~ A@) (C—I— /b($)eA(x)dx>

230 A(z) = be 2 MHIN .a(x) Yv NMTP A(z) IWRD

—bx _ bx _ bz _2 br) _ ,—bx _Q
e <C /ge dx>—e (C b€ ) e C b

99
At =e bt -2
b
N
Yty =eo-4
129 (n5nnn MYmn Pr) ¥ (0) = 0 :9NNN MNIN X3 NYd

Ozy/(O):efb'OC—%:C—%

NN NIV 2NN MPINNY o .C' = £ Nom

o) o b2. 99 _ 9 o
y(2)=e 5 " b b(e 1)

(2)



